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Top Row: Parker, Larinotf, Hollowich, Overton, Schmidt, Hering,
Hutchings, Kulieke. Second Row: Schoefimann, Conant, Anthony,
Hutchings, Radvillas, Kosley, Wilms, Gustavson. Third Row:
Mevyers, Jones, Gendron, Taylor, Garvey, Johnson, Wognum,

Leverenz.

gay affair was held in the Italian Room of the Aller-
on where all enjoyed a most successful evening.
here, dancing to the rhythmical music of the hotel’s

amous orchestra, the class entertained as success-
ully as any similar class organization. The class
urned out in a body to celebrate the first of a series
of proposed Co-op dances. There were over one
hundred and f{ifty in attendance from a group that
numbered only one hundred and seventy-five men.
So successful was the first dance, and so earnestly
did each member advocate similar atfairs that plans
were made for a dance to be held in the Spring.
Over two hundred couples are expected to at-
tend this next dance.

The reqular students have begun to realize that
the cooperative course and the cooperative students
are of definite value to the Institute. The success-
ful cooperative program has gained widespread in-
dustrial attention that reflects very favorably upon
the school. The graduating students of the Insti-
tute are benefited by this outstanding recognition,
and they encounter less difficulty in securing em-

loyment. They will enter an industrial world
where engineers are familiar with the caliber of the
educational program that is offered at Armour. Co-
operative students have further aided this feeling
by faithfully serving both school and industry and
have gained the attention of executives who fully
realize that Armour and its graduates can be de-

pended upon.

Top Row: Nigrelli, Olinger, Grosboll, Schmidt, Smith, Zalewaq,
Wilms. Second Row: Kruse, Schmal, Woods, Anthony, Chubinski,
Kucera, Krantz. Third Row: Ahlstromer, Heidenreich, Kleinwach-

ter, Beckmann, Blaida, Kallevik, Olsen.
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